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What are the two possible 
alleles present in your plants? 

•  D/B&*#-.,*ABB,B,*%E*#@,*0,",*

*

•  +,",*F/#@*GHIJ5*/"C,$#*

B$C5$
What are the possible genotypes?*
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What is the expected ratio 
of genotypes? 
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How can we test if there is 
a T-DNA insert in a 

chromosome?$
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What would be our product 
if our T-DNA insert had the 

opposite orientation?$
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How do you set up a PCR 
reaction for genotyping? 
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How do we interpret 
the gel results? 

J$ [$ L$ \$

J$ [$ L$ \$
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Rxn A 
F + LBb1.3 

Rxn  B 
R + LBb1.3 

Rxn C 
F + R 

PCR products from plant #: 

How many bands 
would you expect to 

see in a 
homozygous plant? 

How many bands 
would you expect to 

see in a 
heterozygous plant? 

How many alleles does each plant have? 


